

①

$$\begin{array}{r} 9 \\ 61 \overline{) 549} \\ \underline{549} \\ 0 \end{array}$$

②

$$\begin{array}{r} 4 \\ 60 \overline{) 269} \\ \underline{240} \\ 29 \end{array}$$

③

$$\begin{array}{r} 55 \\ 4 \overline{) 220} \\ \underline{20} \\ 20 \\ \underline{20} \\ 0 \end{array}$$

④

$$\begin{array}{r} 3 \\ 66 \overline{) 204} \\ \underline{198} \\ 6 \end{array}$$

⑤

$$\begin{array}{r} 34 \\ 6 \overline{) 204} \\ \underline{18} \\ 24 \\ \underline{24} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 331 \\ 3 \overline{) 993} \\ \underline{9} \\ 9 \\ \underline{9} \\ 3 \\ 3 \\ \underline{3} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 111 \\ 6 \overline{) 666} \\ \underline{6} \\ 6 \\ \underline{6} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 4 \\ 54 \overline{) 269} \\ \underline{216} \\ 53 \end{array}$$

⑨

$$\begin{array}{r} 3 \\ 52 \overline{) 156} \\ \underline{156} \\ 0 \end{array}$$

①

$$\begin{array}{r} 3 \\ 90 \overline{) 270} \\ \underline{270} \\ 0 \end{array}$$

②

$$\begin{array}{r} 6 \\ 58 \overline{) 382} \\ \underline{348} \\ 34 \end{array}$$

③

$$\begin{array}{r} 10 \\ 23 \overline{) 244} \\ \underline{23} \\ 14 \end{array}$$

④

$$\begin{array}{r} 2 \\ 82 \overline{) 242} \\ \underline{164} \\ 78 \end{array}$$

⑤

$$\begin{array}{r} 8 \\ 71 \overline{) 581} \\ \underline{568} \\ 13 \end{array}$$

⑥

$$\begin{array}{r} 45 \\ 18 \overline{) 810} \\ \underline{72} \\ 90 \\ \underline{90} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 27 \\ 4 \overline{) 111} \\ \underline{8} \\ 31 \\ \underline{28} \\ 3 \end{array}$$

⑧

$$\begin{array}{r} 262 \\ 2 \overline{) 525} \\ \underline{4} \\ 12 \\ \underline{12} \\ 5 \\ \underline{4} \\ 1 \end{array}$$

⑨

$$\begin{array}{r} 18 \\ 7 \overline{) 126} \\ \underline{7} \\ 56 \\ \underline{56} \\ 0 \end{array}$$

①

$$\begin{array}{r} 104 \\ 5 \overline{) 520} \\ \underline{5} \phantom{0} \\ 20 \\ \underline{20} \\ 0 \end{array}$$

②

$$\begin{array}{r} 9 \\ 68 \overline{) 644} \\ \underline{612} \\ 32 \end{array}$$

③

$$\begin{array}{r} 20 \\ 23 \overline{) 460} \\ \underline{46} \\ 0 \end{array}$$

④

$$\begin{array}{r} 66 \\ 4 \overline{) 265} \\ \underline{24} \phantom{0} \\ 25 \\ \underline{24} \\ 1 \end{array}$$

⑤

$$\begin{array}{r} 4 \\ 83 \overline{) 332} \\ \underline{332} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 4 \\ 39 \overline{) 156} \\ \underline{156} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 196 \\ 5 \overline{) 980} \\ \underline{5} \phantom{0} \\ 48 \\ \underline{45} \\ 30 \\ \underline{30} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 8 \\ 24 \overline{) 192} \\ \underline{192} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 61 \\ 15 \overline{) 915} \\ \underline{90} \\ 15 \\ \underline{15} \\ 0 \end{array}$$

①

$$\begin{array}{r} 111 \\ 8 \overline{) 892} \\ \underline{8} \phantom{00} \\ 9 \phantom{00} \\ \underline{8} \phantom{00} \\ 12 \phantom{00} \\ \phantom{1} \underline{8} \phantom{00} \\ \phantom{1} \phantom{1} \underline{4} \phantom{00} \end{array}$$

②

$$\begin{array}{r} 9 \\ 98 \overline{) 882} \\ \underline{88} \phantom{00} \\ 0 \phantom{00} \end{array}$$

③

$$\begin{array}{r} 111 \\ 7 \overline{) 778} \\ \underline{7} \phantom{00} \\ 7 \phantom{00} \\ \underline{7} \phantom{00} \\ 8 \phantom{00} \\ \phantom{7} \underline{7} \phantom{00} \\ \phantom{7} \phantom{7} \underline{1} \phantom{00} \end{array}$$

④

$$\begin{array}{r} 112 \\ 4 \overline{) 449} \\ \underline{4} \phantom{00} \\ 4 \phantom{00} \\ \underline{4} \phantom{00} \\ 9 \phantom{00} \\ \phantom{4} \underline{8} \phantom{00} \\ \phantom{4} \phantom{8} \underline{1} \phantom{00} \end{array}$$

⑤

$$\begin{array}{r} 111 \\ 9 \overline{) 999} \\ \underline{9} \phantom{00} \\ 9 \phantom{00} \\ \underline{9} \phantom{00} \\ 9 \phantom{00} \\ \phantom{9} \underline{9} \phantom{00} \\ \phantom{9} \phantom{9} \underline{0} \phantom{00} \end{array}$$

⑥

$$\begin{array}{r} 43 \\ 18 \overline{) 786} \\ \underline{72} \phantom{00} \\ 66 \phantom{00} \\ \underline{54} \phantom{00} \\ 12 \phantom{00} \end{array}$$

⑦

$$\begin{array}{r} 129 \\ 6 \overline{) 775} \\ \underline{6} \phantom{00} \\ 17 \phantom{00} \\ \underline{12} \phantom{00} \\ 55 \phantom{00} \\ \phantom{1} \underline{54} \phantom{00} \\ \phantom{1} \phantom{5} \underline{1} \phantom{00} \end{array}$$

⑧

$$\begin{array}{r} 33 \\ 6 \overline{) 198} \\ \underline{18} \phantom{00} \\ 18 \phantom{00} \\ \underline{18} \phantom{00} \\ 0 \phantom{00} \end{array}$$

⑨

$$\begin{array}{r} 242 \\ 4 \overline{) 968} \\ \underline{8} \phantom{00} \\ 16 \phantom{00} \\ \underline{16} \phantom{00} \\ 8 \phantom{00} \\ \phantom{1} \underline{8} \phantom{00} \\ \phantom{1} \phantom{8} \underline{0} \phantom{00} \end{array}$$

①

$$\begin{array}{r} 8 \\ 54 \overline{) 479} \\ \underline{432} \\ 47 \end{array}$$

②

$$\begin{array}{r} 6 \\ 85 \overline{) 569} \\ \underline{510} \\ 59 \end{array}$$

③

$$\begin{array}{r} 6 \\ 90 \overline{) 540} \\ \underline{540} \\ 0 \end{array}$$

④

$$\begin{array}{r} 61 \\ 14 \overline{) 859} \\ \underline{84} \\ 19 \\ \underline{14} \\ 5 \end{array}$$

⑤

$$\begin{array}{r} 30 \\ 11 \overline{) 332} \\ \underline{33} \\ 2 \end{array}$$

⑥

$$\begin{array}{r} 111 \\ 7 \overline{) 777} \\ \underline{7} \\ 7 \\ \underline{7} \\ 7 \\ \underline{7} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 20 \\ 27 \overline{) 562} \\ \underline{54} \\ 22 \end{array}$$

⑧

$$\begin{array}{r} 7 \\ 17 \overline{) 126} \\ \underline{119} \\ 7 \end{array}$$

⑨

$$\begin{array}{r} 10 \\ 21 \overline{) 210} \\ \underline{21} \\ 0 \end{array}$$

①

$$\begin{array}{r} 7 \\ 52 \overline{) 399} \\ \underline{364} \\ 35 \end{array}$$

②

$$\begin{array}{r} 69 \\ 6 \overline{) 414} \\ \underline{36} \\ 54 \\ \underline{54} \\ 0 \end{array}$$

③

$$\begin{array}{r} 11 \\ 34 \overline{) 388} \\ \underline{34} \\ 48 \\ \underline{48} \\ 34 \\ \underline{34} \\ 14 \end{array}$$

④

$$\begin{array}{r} 111 \\ 7 \overline{) 783} \\ \underline{7} \\ 8 \\ \underline{7} \\ 13 \\ \underline{7} \\ 6 \end{array}$$

⑤

$$\begin{array}{r} 8 \\ 58 \overline{) 511} \\ \underline{464} \\ 47 \end{array}$$

⑥

$$\begin{array}{r} 18 \\ 21 \overline{) 378} \\ \underline{21} \\ 168 \\ \underline{168} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 24 \\ 31 \overline{) 769} \\ \underline{62} \\ 149 \\ \underline{124} \\ 25 \end{array}$$

⑧

$$\begin{array}{r} 8 \\ 35 \overline{) 281} \\ \underline{280} \\ 1 \end{array}$$

⑨

$$\begin{array}{r} 121 \\ 4 \overline{) 486} \\ \underline{4} \\ 8 \\ 8 \\ \underline{6} \\ 4 \\ \underline{4} \\ 2 \end{array}$$

①

$$\begin{array}{r} 158 \\ 4 \overline{) 632} \\ \underline{4} \phantom{00} \\ 23 \phantom{0} \\ \underline{20} \phantom{0} \\ 32 \\ \underline{32} \\ 0 \end{array}$$

②

$$\begin{array}{r} 45 \\ 18 \overline{) 827} \\ \underline{72} \phantom{0} \\ 107 \\ \underline{90} \phantom{0} \\ 17 \end{array}$$

③

$$\begin{array}{r} 232 \\ 3 \overline{) 696} \\ \underline{6} \phantom{00} \\ 9 \phantom{0} \\ \underline{9} \phantom{0} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

④

$$\begin{array}{r} 7 \\ 69 \overline{) 531} \\ \underline{483} \\ 48 \end{array}$$

⑤

$$\begin{array}{r} 68 \\ 4 \overline{) 272} \\ \underline{24} \phantom{0} \\ 32 \\ \underline{32} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 3 \\ 81 \overline{) 243} \\ \underline{243} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 432 \\ 2 \overline{) 864} \\ \underline{8} \phantom{00} \\ 6 \phantom{0} \\ \underline{6} \phantom{0} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 7 \\ 40 \overline{) 280} \\ \underline{280} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 64 \\ 5 \overline{) 321} \\ \underline{30} \phantom{0} \\ 21 \\ \underline{20} \phantom{0} \\ 1 \end{array}$$

①

$$\begin{array}{r} 12 \\ 37 \overline{) 451} \\ \underline{37} \phantom{0} \\ 81 \\ \underline{74} \\ 7 \end{array}$$

②

$$\begin{array}{r} 111 \\ 5 \overline{) 556} \\ \underline{5} \phantom{00} \\ 5 \phantom{0} \\ \underline{5} \phantom{0} \\ 6 \\ \underline{5} \\ 1 \end{array}$$

③

$$\begin{array}{r} 112 \\ 4 \overline{) 448} \\ \underline{4} \phantom{00} \\ 4 \phantom{0} \\ \underline{4} \phantom{0} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

④

$$\begin{array}{r} 4 \\ 83 \overline{) 398} \\ \underline{332} \\ 66 \end{array}$$

⑤

$$\begin{array}{r} 5 \\ 27 \overline{) 146} \\ \underline{135} \\ 11 \end{array}$$

⑥

$$\begin{array}{r} 6 \\ 33 \overline{) 198} \\ \underline{198} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 301 \\ 2 \overline{) 603} \\ \underline{6} \phantom{00} \\ 03 \\ \underline{2} \\ 1 \end{array}$$

⑧

$$\begin{array}{r} 110 \\ 2 \overline{) 221} \\ \underline{2} \phantom{00} \\ 2 \phantom{0} \\ \underline{2} \\ 1 \end{array}$$

⑨

$$\begin{array}{r} 40 \\ 17 \overline{) 680} \\ \underline{68} \\ 0 \end{array}$$

①

$$\begin{array}{r} 20 \\ 12 \overline{) 246} \\ \underline{24} \phantom{0} \\ 6 \phantom{0} \end{array}$$

②

$$\begin{array}{r} 64 \\ 5 \overline{) 320} \\ \underline{30} \phantom{0} \\ 20 \\ \underline{20} \\ 0 \end{array}$$

③

$$\begin{array}{r} 70 \\ 14 \overline{) 980} \\ \underline{98} \phantom{0} \\ 0 \end{array}$$

④

$$\begin{array}{r} 97 \\ 9 \overline{) 873} \\ \underline{81} \phantom{0} \\ 63 \\ \underline{63} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 89 \\ 2 \overline{) 179} \\ \underline{16} \phantom{0} \\ 19 \\ \underline{18} \\ 1 \end{array}$$

⑥

$$\begin{array}{r} 232 \\ 2 \overline{) 464} \\ \underline{4} \phantom{00} \\ 6 \\ \phantom{0} \underline{6} \\ 4 \\ \phantom{00} \underline{4} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 111 \\ 5 \overline{) 555} \\ \underline{5} \phantom{00} \\ 5 \\ \phantom{0} \underline{5} \\ 5 \\ \phantom{00} \underline{5} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 321 \\ 3 \overline{) 965} \\ \underline{9} \phantom{00} \\ 6 \\ \phantom{0} \underline{6} \\ 5 \\ \phantom{00} \underline{3} \\ 2 \end{array}$$

⑨

$$\begin{array}{r} 2 \\ 90 \overline{) 180} \\ \underline{180} \\ 0 \end{array}$$

①

$$\begin{array}{r} 195 \\ 3 \overline{) 585} \\ \underline{3} \phantom{00} \\ 28 \phantom{0} \\ \underline{27} \phantom{0} \\ \phantom{0} 15 \\ \phantom{0} \underline{15} \\ \phantom{00} 0 \end{array}$$

②

$$\begin{array}{r} 20 \\ 8 \overline{) 164} \\ \underline{16} \phantom{0} \\ \phantom{00} 4 \end{array}$$

③

$$\begin{array}{r} 30 \\ 27 \overline{) 816} \\ \underline{81} \phantom{0} \\ \phantom{00} 6 \end{array}$$

④

$$\begin{array}{r} 111 \\ 8 \overline{) 889} \\ \underline{8} \phantom{00} \\ \phantom{00} 8 \\ \phantom{00} \underline{8} \\ \phantom{000} 9 \\ \phantom{000} \underline{8} \\ \phantom{0000} 1 \end{array}$$

⑤

$$\begin{array}{r} 9 \\ 88 \overline{) 859} \\ \underline{792} \\ \phantom{000} 67 \end{array}$$

⑥

$$\begin{array}{r} 10 \\ 29 \overline{) 290} \\ \underline{29} \phantom{0} \\ \phantom{00} 0 \end{array}$$

⑦

$$\begin{array}{r} 40 \\ 11 \overline{) 444} \\ \underline{44} \phantom{0} \\ \phantom{00} 4 \end{array}$$

⑧

$$\begin{array}{r} 122 \\ 3 \overline{) 367} \\ \underline{3} \phantom{00} \\ \phantom{00} 6 \\ \phantom{00} \underline{6} \\ \phantom{000} 7 \\ \phantom{000} \underline{6} \\ \phantom{0000} 1 \end{array}$$

⑨

$$\begin{array}{r} 111 \\ 8 \overline{) 890} \\ \underline{8} \phantom{00} \\ \phantom{00} 9 \\ \phantom{00} \underline{8} \\ \phantom{000} 10 \\ \phantom{000} \underline{8} \\ \phantom{0000} 2 \end{array}$$